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gz [Zavs| KEHL | BF EFE 4 (@ | FC | YDS| EH | TD
1 B FEM 6 |RBiI HE 3 7 0] 289 41.3 2
2| A BEX 10 |M®R & 2 13 4| 256| 28.4 1
3| B BiRX 3 |H/s B 4 11 0| 310| 28.2 1
41 A BEX 13 |A# AKX 4 13 0| 362| 27.8 1
5 B BZEX 31 |fkpE B 3 8 0| 214 26.8 0
6| B FEX 1 |mEE 3 8 1| 167 23.9 0
71 B 5PN 24 (BN %= 2 8 ol 179| 22.4 0
8| A EiE A 3 |7rruvrr G-k 3 10 ol 221| 22.1 0
9| B B K 21 |BF —iE 3 8 ol 173| 21.6 0
10| A ESRng 11 |#EE 35 3 13 0| 245| 18.8 0
1ml A rEX 19 |8 #A 4 15 1| 260 18.6 0
2| B =E-2PN 25 |fRis HiE 2 8 0| 144 18.0 0
13 A FEX 1 |h@ EE 1 18 0| 297| 16.5 0
1“| B FEEK e 2 8 0| 131 16.4 0
15 B BB BEE B 8 0| 120| 15.0 0
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g6z |Zavy| KEHL | EF EF4 24 | E%| FC | YDS| EH¥ | TD
1l A rEX 57 |HA && 4 1 0| 44| 440 1
2| B B K 8 BB BE 4 3 0 87| 29.0 0
3 B B X 84 Wil Fos 3 1 0 241 24.0 0
3| B BBEX 84 (BN 1 1 0 24| 24.0 0
5| B 5PN 6 |ME #EX 3 2 0| 43| 21.5 0
6| A BEEX 37 |BH BX 1 1 0 21| 21.0 0
1 A EEX 2 |#%#E &KX 3 1 0 201 20.0 0
8| A EpEX 88 |MEF HEAER 3 3 0 57| 19.0 0
9| B BBX 30 (@M HkE 3 3 0 55| 18.3 0
10 A Ets 1 (&2 @% 3 5 0 85| 17.0 0
10| B 5PN 5 |&E A 3 4 0 68| 17.0 0
10| A EpEX 17 |BE B2H 4 2 0 34| 17.0 0
10 A HEX 22 (BB A 2 2 0 34| 17.0 0
1“| B HFEX 9 |EB ED 3 4 0 67| 16.8 0
15 B B K 96 |(EH M 2 1 0 16| 16.0 0
16 A BHEX 6 |FE IEH 4 1 0 15[ 15.0 0
17 B kX 88 [#K &K 1 3 0| 42| 14.0 0
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B [Favy| KFEH | BS EF4 SE (@[ FC | YDS| ¥8 | TD
17 A EEX 71 |BFR MR 4 1 0 14] 14.0 0
17 B REX 85 |tkaK 1KE 3 1 0 14| 14.0 0
20 B FER 30 &% AKX 2 1 0 13| 13.0 0
21 A HEX 14 |HR RE 3 5 0 55 11.0 0
22 B BiAX 26 |BL EX 2 4 0 43| 10.8 0
23 A Edfungc 23 |#HK K& 2 1 0 10 10.0 0
24 A HiEX 88 |HHE %E—H 3 1 0 9] 9.0 0
24 B BiAX 30 |BHE &2 1 1 0 9] 9.0 0
26 B FEKX 91 |kE XiE 2 1 0 8 8.0 0
27 B FEX 11 |Kk% ik 4 3 0 23 7.7 0
28 A E+tEE 28 |&ER EBR 4 1 0 71 1.0 0
28 B HFEK 27 |k MK 3 1 0 71 1.0 0
30 B FEKXR 89 |flR RBAR 2 1 0 5 5.0 0
31 A rEBx 7 | EH 3 2 0 8 4.0 0
31 B BEX 42 |F EX 4 1 0 41 4.0 0
36 B HFEK 8 |&x&r #HMH 3 1 0 of 0.0 0
33 A HEX 18 |XHE ZEF 1 3 0 11 3.7 0
34 A HBEX 81 |X#HE R# 4 3 0 9] 3.0 0
35 A HiEX 0 |#HE H& 4 1 0 2 2.0 0
36 A EqiE R 70 |#BHF =& 4 2 2 of 0.0 0
36 B BZ K 14 |¥E %05 4 1 0 of 0.0 0
36 B REX 8 |[&# X 4 1 0 of 0.0 0
36 B PERK 18 /NIl KE§ 2 1 0 of 0.0 0
36 B BAX 49 |fRIF EAH 4 1 1 of 0.0 0
36 B LEE 2 1 |XKR Bt 3 1 0 of 0.0 0
36 B BER 82 |EA &#H& 2 1 1 of 0.0 0
36 A HEX 4 |EF #H#TF 2 1 0 of 0.0 0
36 B B X 29 |HWl 15t 2 1 1 of 0.0 0
36 B REKX 95 |tH R 1 1 0 of 0.0 0




